EE 3755    MIPS 2      Due: TBA 
Problem 1: MIPS program

1-a). Write a MIPS subroutine program to  add   two  numbers,  16bits  at a time 

and return the result  (similar to  packed bcd).
Ignore Carry out.

//C code

      Int ADDTWO16_BITS(int a,int b){

            Int c;

             .. ……..//c= {{left half of a+ left half of b} ,{right half of a + right half of b}}        

             return c;

        }                   

For example )… a = 0x0001  0002,  //32 bits data

                b = 0x0001  0002,  //32 bits data then

c = 0x0002  0004   //add 2 - 16bits….

(checking points for grading: proper usage of registers, instructions, algorithm, length)
       Sol) MIPS code for ADDTWO16_BITS.                                                   

ADDTWO16_BITS:
Problem 2:    Compile the swap code into MIPS code.   
#    swap(int v[ ], int k)

#   {

#         int temp;

#         temp = v[k];

#        v[k] = v[k+1];

#        v[k+1] = temp;

#    }

 

#  Swap 

#  Register Usage

#

#    $a0 : Address of array element v[0].

#    $a1: index k.

#    $t1 : k * 4 ; because array v element is integer which is 4byte long. 

#    $t1: v[k]  ;      for swapping

#    $t2: v[k+1] ;  for swapping
Hint) use lw and sw.

 

swap:

